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This Question Paper consists of 36 questions and 8 printed pages.
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SI. No.

Roll N.o.
ATHAH

CodeNo.  63/0S/1

HOME SCIENCE Set /&g A
(e o) e
(216)

Day and Date of Examination :

(vhen =1 i = fmi=w)

Signature of Invigilators: 1.
(Fritgrsi & garam)

2.

General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also check
to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the
questioni.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/0S/1, Set- on the Answer-Book.

(@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Guijarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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HOME SCIENCE

(T8 formm)
(216)
Time : 2% Hours] [Maximum Marks : 85
g 2Y gue] [quiie : 85

Note : (i) All questions are compulsory.

(i)  Marks are indicated against each question.

fdw: (i)  wel wom arfad 2
(ii) ek T3 o 37k 3Hh @A A T 2

1. Energy provided by one gram of oil is [1]
(A) 4 calorie (B) 8 calorie
(C) 9 calorie (D) 10 calorie
Uek TTH 1 @ foRaet Fett urH A 29
(A) 4 Fendt (B) 8 ettt
(C) 9 FHendt (D) 10 Femwdt
2. Rice water stools is the main symptom of which disease? [1]
(A) Malaria (B) Tuberculosis
(C) AIDS (D) Cholera
<TEe & UHI S T fohm I 1 g we 32
(A) uefen (B) wufe®
(C) AIDS (D) &m
3. Hot water should not be used to remove which stain? [1]
(A) Blood (B) Ghee
(C) Tea (D) Curry
fora esat =it gem o forg T ot s s T s wiRe ?
(A) T (B) =t
(C) =™ (D) =
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4.

Which among these is not a biodegradable waste? [1]
(A) Thermocol (B) Tealeaves

(C) Egg shell (D) Fruit peels

TTH | HAET 9 IHAUIT JTUTITE ugred g 8 ?

(A) owieR (B) =mauxit

(C) e & footeh (D) % o fserh

Retirement is a characteristic of which stage of family life cycle? [1]
(A) Expanding stage (B) Beginning stage

(C) Contracting stage (D) None of these

uTienfies sfar ok o dan g fra wr Rt ferdrwen 2

(A) foam =R (B) wrftrs =R

(C) HFeH &R (D) 3 & g T

Which vegetable would you buy, if you want a good source of protein? [1]

(A) Bottle gourd (B) Ladyfinger
(C) Peas (D) Potato

TEH 1 IH Eid U o 10 3119 390 | i €1 dosit Tlan ?

(A) ferm (B) fir&

(C) w&r (D) @y

B.C.G. Vaccine gives protection for which communicable disease? [1]
(A) Typhoid (B) AIDS

(C) Diphtheria (D) Tuberculosis
.S, st e R HehTHeR T | TRAN YEH AT 2

(A) TEwEE (B) AIDS

(C) feututen (D) wufew
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10.

11.

12.

13.

14.

Which resource is an example of human resource? [1]

(A) Garden (B) Time

(C) Money (D) Fan

TR © HITET HHEE WA T 3G 7

(A) =m (B) wm

©C) &= (D) uwn

Name any two foods rich in Iron. [2]

g acd ° R, Feredt <t e o am fori|

Write two differences between warp and weft yarn. [2]

AT 3R ST a=geTt o S g 3Tk T8 i

What do you understand by spending plan? List any two factors effecting the
spending plan of a family. [2]

=T T 8 T AT TAHSA @ ? Ueh UNAR <hl 9 AT hl THTTEI i Tet fehgl af ShiRehl hl
geltag &

Differentiate between cephalocaudal and proximodistal sequence of development
with the help of an example each. [2]

frrciierieet T Uitrametee faenma she o i Ush—Ueh 3ATEH0T <hi TRl § 3R T8 &

Tell four reasons to your friend to convince her to study Home Science. [2]

TR FHRUT FATR ST Tt i Teferm foma uga @ fore it i

Tell two advantages of eating sprouted pulses. [2]

S T W e F 6 S o =)
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15.

16.

17.

18.

19.

20.

21.

22.

Analyse any four reasons of preserving foods. [2]

@TE ST hl RIS A o R HRUT T 8 Thd 2 7

Differentiate between natural and acquired immunity with the help of an example
each. [2]

UTehfder ufien e Iutfsia ufRen & st Ueh—Ueh 3qTeuT hl TEEdl | SR T |

Give one reason each as to why did you select cotton fabric instead of nylon
fabric for making a dress for an infant. [2]

T 1Y) A Uik o [T A S R TERT ek SO Ht S Sl aEd i feRan?
TSh-TUsh HRUT T

Write any two examples of dovetailing that can help your mother in simplifying
household work. [2]

(SrafeT) ATHSEA o hIS 3 IETENUT FATU Y TE] HTHERTS hid | 3Tkl WTaT i Shi STTET
2 Gh|

Tell two advantages of family planning counseling to a newly married couple.[2]

T A foranfa e @t URaR e agishdl o o gl ol S|

In what four ways can Sudha exhibit her respect and towards her grandparents
love? [2]

TN 31U SET-1E o it 3TeR e @R fohA =R alient & ek R dehdl 2

Your younger brother is very short tempered. Give him two suggestions to
control his anger. How will he benefit by them? [2]

SATURR DI | 1 FEA SHILl ST 8| I8 U FHIL TR g UM ok 10 3t Foimal 3 378 30 /1 ole
grm e

Since two years your friend is unable to find a job. Make him aware of any four
sources from where he can get information about career opportunities. [2]

T8 U AUHT A AeRd T W 7Ewed g1 @1 2l 38 i IR Eid | 7T U ek 7ieam &
R AU Halt R IH T Hehdl 2l
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23.

24.

25.

26.

27.

28.

29.

What do you understand by dignity of labour? Why is it important to an
employee? [2]

o/ <R TIRET /T A T A THS 2 ? Ueh HHE % {70 gHeRt o Heed 27

Your sister-in-law is going to deliver her first child. Tell your family members
three reasons to convince them to engage a trained midwife for the delivery. [3]

AR WK T Tl S=1 g ATl ¢ 3ok TRER aTel hl diF SRl SdreRl, T84 o foTu, ueh
ufvrfera a8 (freae®) 6t 7ee @1 & form afm )

Plan a balanced tiffin for your school going sister. Also give reasons for your
choice of foods. [3]

U TR A AT T4 o fore wgfera i &t Jietn sAmd)| w=m fore T @ & st o
Samn|

Your younger brother often misses his school bus. Give him three suggestions
of managing his time properly so that he can reach school on time. [3]
ATk DI HTE i The 6 STHER P T &1 I8 THA T TG4 HE h hig dF Ga & rem
T T T TR TE el

Give three differences between sanforization and starching finish. [3]

fapea-0eh vd Teen ufteen & st A iR T

Your friend met with an accident. You suspect she has fractured her foot. What
three precautions would you adopt while giving her first aid? [3]

ToRhT g gele @t TR &1 715 21 siTaent vTek @ T 3wk uifa <t geEt ge TS 21 3§ mufhes
Tafereen <a T st i @ = FEenFE s e

In what two ways does air pollution affect our health? What three steps can we
take at our own level to reduce 1t? (4]

1Y TGUUT Tl TR TR W ot 31 TohR § THTE Ul 8 ? 310 TR W, 319 Foft i adient @ 39
HH H Hhd 87
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30.

31.

32.

33.

34.

3s.

36.

Write any four differences between twill weave and satin weave. [4]

Ziet gATS E TWEN TS % ol g R e ford|

Which four features would you include while constructing a new kitchen?

[4]
Teh 41 ISR ST a9 3119 {1 o fevrwanent =t aftifem wi)
Make a time plan of one day's activities for a student. [4]
Ue forneff & faq W i nfafalRe it g g =)
Write four differences between growth and development. [4]
gfg ud e & e ur aim o)
Describe the procedure for filing a complaint in a consumer forum. [4]

IYHITHT TEE | FIerrEd 3= /i Y afshan &1 9o SR

Which four food stuffs will you include while planning a meal for a pregnant
woman? Why? [4]

Teh THE! Afge o 10 2ER e &d 99T AT 38k RN | hid 8 9R TE uared
wfwfem wai? = ?

Justify the need for reducing noise pollution by telling four reasons. [4]
LA TGHUT A AT HTATIH Fl g ? AR HRUT T

363E b
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This Question Paper consists of 36 questions and 8 printed pages.
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SI. No.

Roll N.o.
ATHAH
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(216)

Day and Date of Examination :

(vhen =1 i = fmi=w)
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2.

General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also check
to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the
questioni.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/0OS/1, Set- on the Answer-Book.

(@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Guijarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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1.

2.
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HOME SCIENCE

(T8 formm)
(216)
Time : 2% Hours] [Maximum Marks : 85
g 2Y gue] [quiie : 85

Note : (i) All questions are compulsory.

(i)  Marks are indicated against each question.

fdw: (i)  wel wom arfad 2
(ii) ek T3 o 37k 3Hh @A A T 2

1. Which nutrient is not found in eggs? [1]
(A) Vitamin C (B) Protein
(C) Iron (D) Vitamin A
TSt W I T UT9eh o U gl STl ?
(A) Tefim @t (B) wiém
(C) = (D) faeftmg
2. Energy provided by one gram of oil is [1]
(A) 4 calorie (B) 8 calorie
(C) 9 calorie (D) 10 calorie
Uek TTH 1 @ foRaet Fett urH A 29
(A) 4 et (B) 8 ettt
(C) 9 el (D) 10 Fendt
3. Which resource is an example of human resource? [1]
(A) Garden (B) Time
(C) Money (D) Fan
FTH § HITET HHE W18 1 3G 8 ?
(A) =m (B) w==
C) & (D)
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4. Bow shaped back may be a symptom of which disease? [1]

(A) Pertussis (B) Typhoid
(C) AIDS (D) Tetanus
IR WS form TT 1 S1R10T 2 Feha B2
(A) wegwEE (B) <rwrEs
(C) wem (D) feeiw
5. Which among these is not a biodegradable waste? [1]
(A) Thermocol (B) Tea leaves
(C) Egg shell (D) Fruit peels
TH | A WG ITRHUI ST et e 27
(A) owieRe (B) =mauit
(C) 312 & fseren (D) v & fooeh
6. B.C.G. Vaccine gives protection for which communicable disease? [1]
(A) Typhoid (B) AIDS
(C) Diphtheria (D) Tuberculosis
.S, ot Sem R HehTHeR T | TRAN YEH AT 2
(A) TEwEE (B) AIDS
(C) feuferten (D) wufesh
7. Hot water should not be used to remove which stain? [1]
(A) Blood (B) Ghee
(C) Tea (D) Curry
forE usat i ger o ToTe TRA Ut 61 AT TE R AR ?
(A) T (B) =t
(C) =™ (D) «&
[=]ki[=]
63/0OS/1-216-B] G-943 4 S [ Contd......



8. Retirement is a characteristic of which stage of family life cycle? [1]
(A) Expanding stage (B) Beginning stage
(C) Contracting stage (D) None of these
uritafier Sfiam =sh ® e fgfa form v At fertwan 21
(A) formmr=R (B) wrfiter =w
(C) wFwm & (D) 3 & g T&

9. What are the benefits of combining foods from different food groups? Give an
example from your diet. [2]
fafim @gm =rt @ Suctsy wigEl W AINE U W TE0T A o 1 I §| U ITER | |
EEUC

10. Explain the difference between S and Z twist? [2]
S & Z zfere o s i ||

11. What do you understand by spending plan? List any two factors effecting the
spending plan of a family. [2]
I AT @ T T THIA 2 7 Ueh URAR hl 3" AT Tl THIT A e gl &t el st
Tefterg H

12. Analyse any four reasons of preserving foods. [2]
WrE ugret S EXfaTa A % TR HRUT T g Hehd @ 7

13. Tell four reasons why silk is called Queen of fibres? [2]
™ i g <t T I Hel AT @ ? TR SR T

14. Tell two advantages of family planning counseling to a newly married couple.[2]
U 74 foanfga wiie st uRar e aeamiesdt @i o 31 oW =)

[=]ki[=]
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15.

16.

17.

18.

19.

20.

21.

22.

In what four ways can Sudha exhibit her respect and towards her grandparents
love? [2]

TN 31U SET-1E o Uit 3MTeR e @R foFA R alient & ek T Hehdl 2

Tell four reasons to your friend to convince her to study Home Science. [2]

TR THRUT FATR ST Tt i Tefeem foma uga @ fore it i

Your younger brother is very short tempered. Give him two suggestions to
control his anger. How will he benefit by them? [2]

SATURR DTS HIS 1 FEA SHILl ST 8| I8 U FHIL TR I U < 10 3t Foimal 3| 378 30 F/l ole
grm e

Write any two examples of dovetailing that can help your mother in simplifying
household work. [2]

(SrafeT) ATHSE o IS 2 ISTEN0T T R TRE] FHIHHRT i T STIhT TTaT i aht STTET
2 GF|

Since two years your friend is unable to find a job. Make him aware of any four
sources from where he can get information about career opportunities. [2]

T8 U AUHT A ARl T W 7Ewel 31 @1 2| 38 i IR Eid | 7T U ek 7ieam &
R AU Hatlt JHHR IH T Hehd 2l

Name any two foods rich in Iron. [2]

e acd | R, Foredt 2 @t o am fora|

Differentiate between natural and acquired immunity with the help of an example
each. [2]

TTehideh URReT AT IUTieia UiReT o Ste Ueh—Teh ISTER0T <ht TEEal | Sk 98 i

Differentiate between cephalocaudal and proximodistal sequence of development
with the help of an example each. [2]

frrciierieet T Uitrametee faema she o i Ush—Ueh 3ATEH0T <hi HEEdT § 37’ T8 &
[=1%i[=]
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23.

24.

25.

26.

27.

28.

29.

63/0S/1-216-B] G-943 7

What do you understand by dignity of labour? Why is it important to an
employee? [2]

o/ <R TIRET /T A T A THS 2 ? Ueh HHE % {70 gHeRt o Heed 27

Give three differences between chemical and mechanical finishes. [3]

TEEH & FEeh! TREST3 & S diH =R Fand|

Plan a balanced tiffin for your school going sister. Also give reasons for your
choice of foods. [3]

AT TR T ATl g4 ok foTe wgfora iR st aiemn s == fohe 7o @i o swot ot
am|

Your younger brother often misses his school bus. Give him three suggestions
of managing his time properly so that he can reach school on time. [3]

T DI UTE il THA 0 SRR T AT 2| I8 THA H TG9&H FHH & HIg 9 gea & Rrem
T A W R T Fehl

Which three precautions you should take while giving first aid to your friend
who has fractured her arm? [3]

MU A I i hl TS 22 TE ¢ I8 WAk Fafehedt gd €W 3110 A € i AraentE
A ?

Your sister-in-law is going to deliver her first child. Tell your family members
three reasons to convince them to engage a trained midwife for the delivery. [3]

AR W T Tl =1 g ATl ¢ 3ok TRER aTel hl diF R0l SdieRl, T84 o foru, ueh
ufvrfera a8 (freame®) 6t 7ee @1 & form afm )

In what two ways does air pollution affect our health? What three steps can we
take at our own level to reduce it? (4]

1Y TGUUT Tl TR FTEA W et 31 TohR § WIS USAT 8 ? 310 TR W, 3719 Foft i adient @ 39
HH T Tk 87



30.

31.

32.

33.

34.

3s.

36.

63/0S/1-216-B] G-943 8

What four features would you check while selecting a site for your house? [4]

31U R % foTe Toret ot gATE e e 3 foRa uR farawanedt B st i

Justify the need for reducing noise pollution by telling four reasons. [4]
£A TGHUT A AT HTATIH Fl g ? AR HRUT |

Make a time plan of one day's activities for a student. [4]

ek forenedf & fea w i nfafafem i wwa Tiemn a@m)

Describe the procedure for filing a complaint in a consumer forum. [4]

IUHITHT AT | IR @ /A Y Tfshan &1 9o S|

Define the following : [4]
(A) Thermoplastic fibre

(B) Staple fibre

(C) Filament fibre

(D) Thread

FrfeiRem st aftsnfoa = -

(A) gHTeATRE aq

(B) ®ueitg

(C) Thermde dg

(D) &mm

Which four food stuffs will you include while planning a meal for a pregnant
woman? Why? [4]
Teh TTHE! AfgeTt & o0 SIER STEisH ad 999 Y 39 RN | @i 8@ 9R ©E e
afthfeta a2 F?

Write four differences between growth and development. [4]

gfig va foremma o e om o forg|

363E b
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This Question Paper consists of 36 questions and 8 printed pages.
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2.

General Instructions :

1.
2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also check
to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the
questioni.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63/0OS/1, Set- on the Answer-Book.

(@  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Odia,
Guijarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b)  If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

E#EI
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AW A

1.

2.

Tdeneff gH-u % Uge UB W UAT ST 1Ay fore |

HUIT IIH-U Tl Wi o o T¥A-UF &% Fed IS1 a0 U1 R 3a § e @ Rrarht vom us & wed o 31 39
o <t s W R A R aeA shites wa H 2

TGS 9yl H 3TTueht wR farekedt (A), (B), (C) a1 (D) H W whig Tah ST YAHT ¢ a1 &t T8 STR-Yfeeht § 31md w&t
3w ferRaru)

e STy 6 s —ener wot v 35 e et svafer e @ 3 81 v st 5 fora srem & w4 e
e

ITR-Yfeert § uga- g 9 veren fAfde weri o sifaftes wdl ot srgsruies forem wr wdienedf i srra sgaen
S|

R IT-GRERT T IYH-U Y g T 63/08/1, de- [C | ford)

(®) TH-U= et s/ mem A R o, aR s e A R S T R s v A s Ewa E
SIS, R, 34, Ul shren, afte, weaterd, Heis, aep, A6, 3t e, hichult, wioTgd, srafe,
TG, YN, FEhA oiR s
U IR-Yferent | fou T st ° ford for st fora s 1 s fora @ 2

(@) afe ama & va Rt o sifafvar fordt s o o TR forer €, At wval 6t omem | 2 aredt et /et
A Fert Faer snaht gt
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HOME SCIENCE

(Te formm)
(216)
Time : 2% Hours] [Maximum Marks : 85

qua ;2% 9ue] [quiie : 85

Note : (i) All questions are compulsory.

(i)  Marks are indicated against each question.

fdw: (i)  wel wom arfad 2
(ii) ek T3 o 37k 3Hh @A A T 2

1. What is the mode of spread of pertussis? [1]
(A) Food (B) Air
(C) Touch (D) Mosquito bite
HTAETE % TeTTal hl HISTH -1 21 82
(A) vim (B) @y
©) WA (D) wem
2. Retirement is a characteristic of which stage of family life cycle? [1]
(A) Expanding stage (B) Beginning stage
(C) Contracting stage (D) None of these
uTiafies Sie =k ® Aan Faft fera w6 oo 21
(A) fermr =R (B) urfdres &R
(C) HFem &R (D) = & % &
3. Energy provided by one gram of oil is [1]
(A) 4 calorie (B) 8 calorie
(C) 9 calorie (D) 10 calorie
Uek TTH 1 @ foRaet Fett urH A 29
(A) 4 Fendt (B) 8 el
(C) 9 Femd (D) 10 Serdt
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4.

63/0S/1-216-C]

Hot water should not be used to remove which stain?

(A) Blood (B) Ghee
(C) Tea (D) Curry
fora o=t =it gem o fore T ot s s T e wiRe ?

(A) T (B) =t

(C) == (D) &

B.C.G. Vaccine gives protection for which communicable disease?

(A) Typhoid (B) AIDS

(C) Diphtheria (D) Tuberculosis
=550, o S fhm Hshiaes A A TR YEH o 2|

(A) TEwEE (B) AIDS

(C) feututen (D) wufew

Which among these is not a biodegradable waste?

(A) Thermocol (B) Tealeaves
(C) Egg shell (D) Fruit peels
TH | I WG ITHAUI STUTITE et e 27

(A) owiRE (B) == Uit

(C) e = foereh (D) wet % fsorn

Which resource is an example of human resource?

(A) Garden (B) Time
(C) Money (D) Fan

FTH | I WA 18 T ITT B2

(A) =m (B) &=

C) &= (D) uwn

of
G-943 4 ,@%;3
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10.

11.

12.

13.

14.

Which mineral is essential for clotting of blood in our body? [1]
(A) Calcium (B) Iodine

(C) Iron (D) Phosphorus

TR YRR U FE @ a0 T & o o1 | TgrRidl il 87

(A) Hfeym (B) o€

(C) I (D) wemRd

Classify the stains on the basis of their origin. [2]
Tt | o YR W el 1 Thiehd i

Differentiate between cephalocaudal and proximodistal sequence of development
with the help of an example each. [2]

fameerieet T Uitramietee faema v % i Ueh—TUeh 3TEU0T hl HEdT 8 3’ T8 &

Why do you understand by food fortification? Give its one example. [2]
WA TSR | 3T I TSI 8 7 Ueh ITEX0T <

Differentiate between natural and acquired immunity with the help of an example
each. [2]

kiR ufien e Iutfsia ufRen & st Ueh—Udh 3qTeRuT hl Tl | SR T8 |

Write any two examples of dovetailing that can help your mother in simplifying
household work. [2]

(SrafeT) ATHTE o IS 2 ISTE0T T R TRE] FHIHERT i B STIh! TTam i sht SATET
2 TR

Name any two foods rich in Iron. [2]

g acd © R, Feredt <t e & am forwi|
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15.

16.

17.

18.

19.

20.

21.

22.

Analyse any four reasons of preserving foods. [2]

@TE ST hl RIS A o R HRUT T 8 Thd 2 7

What do you understand by dignity of labour? Why is it important to an
employee? [2]

o <Y TTREAT /T A 3T T GHIA 2 ? Ueh hHE o 10 SHeRT o1 HEed 27

How are fabrics made from novelty yarns different from those using simple
yarns? [2]

A g gamt FAfa wug wemon ga @ ffia o @ fea ver e g 2

Since two years your friend is unable to find a job. Make him aware of any four
sources from where he can get information about career opportunities. [2]

T8 U ATUHT A ARl T W 7Ewel g1 @1 2l 38 i IR Eid | 7T U ek qieam &
R AU Halt JHHR IH T Tehd 2l

Tell two advantages of family planning counseling to a newly married couple.[2]

Uek 9 faranfea W2 i uREm Faiss aramgiehdal o % 31 oy and|

In what four ways can Sudha exhibit her respect and towards her grandparents
love? [2]

TN 31U SET-1E o Uit 3TeR Ud @R fofA =R il & ek R Hehdl 2

Tell four reasons to your friend to convince her to study Home Science. [2]

TR FHRUT FATR ST Tt i Teferm foma uga @ fore it i

Your younger brother is very short tempered. Give him two suggestions to
control his anger. How will he benefit by them? [2]

STTURR DI | Tl SEA SHILh AT 8| I8 U THIET TR g U o foT0 3t goimal 3| 378 3 o/ olw
gAm?

E#EI
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23.

24.

25.

26.

27.

28.

29.

What do you understand by spending plan? List any two factors effecting the
spending plan of a family. [2]

=T TS 8 T AT TAHSA @ ? Ueh UNAR <hl 9 AT hl TR i Tet fehgl af Shivehl <hl
geltag &

Plan a balanced tiffin for your school going sister. Also give reasons for your
choice of foods. [3]

U TR A AT T4 o fore wgfera i &t Jietn sAmd)| w=m fohe T @ & st o
Samn|

Your friend has met with an accident and is bleeding profusely. Which three
points will you keep in mind while giving him first aid? [3]

e I A o HRUT Tk I i AATUH Th g T 2| I/ Teufirens Farfereen Sa wwa sma
o i =at = e @ ?

Your sister-in-law is going to deliver her first child. Tell your family members
three reasons to convince them to engage a trained midwife for the delivery. [3]

ARt Wt T UZAT T B AT 2| 3ok UNER aTedl @bl o9 0T ST, 99 d @ o, o
ufdtfera 2 (freame®) & wee @1 & foro Sfa =)

Your younger brother often misses his school bus. Give him three suggestions
of managing his time properly so that he can reach school on time. [3]

U BIS WTE hi Thet 5 IHHER PE T 2| IH THI T TS i o g diF Go1d < e
TqE THI W TR Ugd Heh|

Briefly describe any three techniques of tie and dye. [3]
218 U T8 A <hl fehgl i dehrtenl ot wierm feremu 4|

Justify the need for reducing noise pollution by telling four reasons. [4]

&A IGHUT A AT STEATEH Fl g ? AR HRUT T

E#EI
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30. In what two ways does air pollution affect our health? What three steps can we
take at our own level to reduce it? (4]
1Y TGHUT Tl TR TTEeA W ot 31 TohR § WIS Ul @ ? 310+ TR W, 3119 Foft i adient @ 39
HH T Ghd 87

31. Tell the villagers four benefits of making septic tanks in their houses. [4]
Tia ATl it 2707 B0 | AfRe g T % TR oW Fan|

32. Write four differences between growth and development. [4]
gig va faea & i o o ford|

33. Describe the procedure for filing a complaint in a consumer forum. [4]
SuMITH e 4 freRra gt A e ufskan i auia

34. Make a time plan of one day's activities for a student. [4]
ek forenedf & foq w i nfafafem i wwa =iemn a=m)

35. Which four food stuffs will you include while planning a meal for a pregnant
woman? Why? [4]
Teh THeA! AfgeTt & o0 SIER e ad 999 U 39 RN | @i 8@ 9R TE e
afmfera &t =i ?

36. Compare four characteristics of satin weave and plain weave. [4]
T TS T @ /AUROT TS hl wR fErdranadi st gor i ?

363636
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